XR2600-2
2600 psi @ 2.5gpm

Part Number Description
Pump Information: A07846 ................. Pump Kit, DeVilbiss Radial
*OA00502 L Nut, Swivel
* O HO68 ... Swivel, Garden hose
FOF187 Filter Screen
* D29372 .......... Chemical Injector w/Quick Connect
GXH2525A-112H ....... ..., Giant Pump

Engine Information: GC160 .....oiiiiiii. Engine, Honda, 5 Hp
P48 Key
+ 16255 0Oil, 20 oz.
Frame Information: A00025 ..o Frame
D22268 ....... ... ... ... Isolator Recess Bumper
A09322 Handle
D30445 ... .. .o Rubber Hose Cover
D30446 ......... ... ... ... Rubber Gun Cover, flat
D30447 ... .. Rubber Gun Cover, curved
A00262 ... Tire, Pneumatic
D24323 . Shroud
D30249 ............... Collar with Set Screw (qty 2)
Hardware Information:
Foot: D21436 . Screw (qty 2)
D21437 ... Nut, Flange head (qty 2)
Shroud to Frame D26742 ... ... ... Screw #10-16 x 1/2 (qty 2)
Handle to Frame: + D26863 ......... Snap Buttons (qty 2)
Engine to Frame: 18297 ...l Bolt, 5/16-18 x 1-3/4 (qty 4)
16087 .............. Nut, Flangehead 5/16-18 (qty 4)
Pump to Engine: AO6113 ... Screw, 5/16-24 (qty 4)
Accessory Information: A07802 ... Hose Assembly
AO6118 ... Lance Assembly
D27989 ... Gun Assembly
* HI40 .o Chemical Hose
+ NCTO01 ...t Cleaning Tool
+ 17732 Nozzle Kit 3.5
+ D30374 .. Nozzle Holder
Manual Information: + A08954 ........... Manual, Operator-English/Spanish
?O16411 L Manual, Engine

Included in Hose Assembly
+ Included in Bagged Parts
? Included in Bagged Handle
* Included in Pump Kit

Allparts Equipment Inc 1-800-475-5660 www.allpartsinc.com



